Frequency Polygons

Workout
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Question 1:

(a) 28 (b) 1 (c)5 (d) 102



Question 2:

(a) 6 (b) 5 (c)g (d) 20% (e) 0.34
Question 3:
(a) 1 (b) 1.4

(c) He should use the mean as it takes into account every game (and it's higher)
Question 4.

The modal length of time for year 7’s to spend on homework is 15 minutes compared to the
modal time for year 11’s which is a lot longer at 45 minutes. The least amount of time spent
by a year 7 is only 5 minutes compared to the least amount time spent by a year 11 which is
15 minutes. The range of times taken by year 7’s is 40 minutes which is larger than the
range of times taken by year 11’s which is 30 minutes.
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(b)
Both boys and girls attend between 0 and 4 clubs. The modal number of clubs that boys
attend is 1 whereas the modal number of clubs that girls attend is 2.

Question 6: 58 minutes



